User Manual

Product Code: A-ITX60-S1B

GB

CAUTION

Electrostatic discharge (ESD) can damage system components. If an ESD-controlled
workstation is not available, wear an antistatic wrist strap or touch an earthed surface
before handling any PC components.

WARNING

Please be careful when unpacking and setting up this product as metal edges can cause
injury if not handled with care. Keep away from children.

FR

ATTENTION

Une décharge électrostatique (ESD) risque d’endommager les composants du systéme. Si
vous ne disposez pas d'une station de travail avec protection contre I'ESD, portez un
bracelet antistatique ou touchez une surface reliée 2 la terre avant de manipuler les
composants de I'ordinateur.

AVERTISSEMENT

Faites ion lors du dé et de i ion de ce produit car il comporte des
coins métalliques coupants qui risquent de vous blesser s'ils ne sont pas manipulés avec

Garder loin des enfants.

DE
Vorsicht
Elektrostatische Entladungen (ESD — Electrostatic discharge) kénnen Systemkompo-
nenten beschidigen. Sollte ein ESD geschiitzter Arbeitsplatz nicht vorhanden sein,
tragen Sie ein antistatisches Armband oder beriihren Sie eine geerdete Oberfliche bevor
Sie mit den Arbeiten am Computer beginnen.
Warnung
Seien Sie vorsichtig beim Auspacken und beim Aufbau dieses Produktes. Scharfe

11k kénnten Verl, hervorrufen wenn ohne die nétige Vorsicht
vorgegangen wird.
Von Kindern fernhalten.

ES

CUIDADO

Descargas electrostaticas (ESD) pueden dafiar los componentes de su sistema. Si no
puede disponer de una estacién de trabajo libre de electrostatica, use una mufiequera
antiestatica o toque una superficie que haga tierra antes de manipular los componentes
del ordenador.

PELIGRO

Por favor sea cui cuando d y este producto. Los filos de
metal pueden causarle cortes o heridas si no son manipulados adecuadamente.

Aléjate de los nifios.

PT

CUIDADO

Descargas Eletroestaticas (ESD) podem danificar componentes do PC. Caso nao tenha
uma bancada especifica disponivel, utilize uma pulseira anti-estatica ou toque uma
superficie aterrada antes de manusear qualquer componente.

ATENCAO

Por favor tenha cuidado ao desembrulhar e montar este produto, as extremidades de
metal podem machucar, caso o mesmo nao seja manuseado com cuidado.

Manter fora do alcance das criangas.

RU

OCTOPOXHO

nekTpocTaTuyeckuii paspaa (3CP) MoXeT NoBpeanTb KOMMNOHEHTbI cuctembl. Ecnn
pabouee MecTo ¢ 3awuTon oT ICP OTCYTCTBYET, peKoMeHAyeTcA Npu paboTe ¢
KOMbIOTEPHBIMM KOMMOHEHTaMV HaJeBaTb aHTUCTaTUYeCKNii GpacneT uam obecneunTs,
KOHTAKT Tena C 3a3eM/IeHHON MOBEPXHOCTBIO.

OMACHO

CobniopaiiTe OCTOPOXHOCTb MPM PacnakoBKe 1 MOHTaXe 3TOro U3AeNVs Tak Kak ocTpble
Kpas MeTaINyecKyX YacTei MOryT CTaTb NPUUMHOI Gpr3nyeckor TpaBmbl. He
noanyckaiTe K U3aenuio AeTen.

cz

POZOR

Elektrostaticky vyboj (ESD) miize poskodit soucasti systému. Pokud neni k dispozici
pracovni stanice s pred , pouzivejte antistaticky feminek na zapésti nebo
se pred manipulaci s jakymikoli sou¢astmi pocitace dotkné éného povrchu.
VAROVANI

PFi vybalovani a nastavovani tohoto vyrobku dévejte prozor, protoze kovové okraje
mohou pfi neopatrném zachazeni zpiisobit poranéni. Udrzujte mimo dosah déti.

PL

PRZESTROGA

Wytad ie elektra (ESD) moze uszkodzi¢ pod ty systemu. Jesli stacja
robocza do pracy z wyt: iami elektr i nie jest

nalezy zatozy¢ antystatyczny pasek na nadgarstek lub dotkna¢ uziemionej powierzchni
przed prz ieniem do obstugi jaki i d. 16

OSTRZEZENIE

Nalezy zachowa¢ ostroznos¢ podczas rozpakowywania i ustawiania tego produktu,
poniewaz metalowe krawedzie moga spowodowaé obrazenia, jesli nie sa obstugiwane z
zachowaniem nalezytej uwagi. Trzyma¢ z dala od dzieci.

JI

BESNE (esD) HBTHE  MECABESADT LABNET, AUROR
HFEEETSRIC. HIBBRBREEE o TS EE N, BRSHIESS L
SEPRRBERZNS Y TEREL T MG e TR,
SROB (TvY) BHTTAET ZRNNG D ETOT, ALEEBIEE,
L“/J_i;c_’%_gz?]%l:tt\ <N<NBTHRTERELLET V. FELDFOBHEVFR
B TN,

o
7
[

2
.
St
W \ndg

(ESD)R] SESIR IR R Ge T {4 o 16 FARESD T {Euh - HTiREUAR L3 T RS
Wby R AR R - B R BN o

FRENODELR Bl e BIAEN o IERE -

i

53

2
o ey 2
$%M4
W e

(ESD)RIAE@IIT A Mon (4 - SEEARESD T (ELS - HEMARISILATIFLL
WErE BT RS RE - BEIERERAN -

HhEOERA  BREEEREINE - BREE -

TR - BT
R

R

5140298317 V1

GB
(@ Thermal compound @ Thermal module @) CPU cooler @ Screws (6 Washers ® Thermal gap filler
@ Screws for motherboard (M3) Spring © VESA mounting screws (@D Case feet kit

FR

©) Composé thermique @ module thermique (@ Refroidisseur de processeur @ Vis ® Rondelle
(® Rembourrage thermique @ vis pour carte mére (M3) @ Ressort (@ Vis de fixation VESA

@0 kit de pied de boitier

DE

©) Wirmeleitpaste @ Thermo-Modul B) CPU-Kiihler @ Schrauben &) Scheiben
® Wirmeleitspaltfiiller (@ Schrauben fiir das Motherboard (M3) (® Feder

(© VESA-Montageschrauben (0 GehzusefiiBe Zubehsr

PT

(D Pasta térmica @ médulo térmico 3 Resfriador de CPU @) Parafusos B Arruela ® Pelicula térmica
(@ parafusos para placa-mae (M3) ® Mola (@ parafusos para instalagio no suporte VESA

@0 Kit de fixagdo do gabinete

ES

O] Compuesto térmico @ médulo térmico @ Refrigerador de CPU @ tornillos ® Arandela

® Relleno térmico @ tornillos para la placa base (M3) ® Resorte @ Tornillos de montaje VESA
@0 kit de pies de la carcasa

RU

(D repmonacra (2) Tepmomopgynb (3)0xnagutens npoueccopa (4) suntel (5) Laitba
6) TepmosanonHnTenb 3a30poB (7) BunTbl gnst MaTepuHckoi nnatol (M3) )

(9) BunTbl kpennenma VESA (0 Habop Hoxek kopnyca

cz
@ Tepelna sloucenina @ Tepelny modul @ Chladi¢ CPU @ Srouby ® Podlozka ®Tepelny vyplii
@ Srouby pro zakladni desku (M3) Pruzina (@ Upeviiovaci srouby VESA (10 Sada podpér krabice

PL

@ Srodek termoprzewodzacy @ Modut termiczny (3 Chtodzenie procesora @ Sruby (® Podktadka
(® Termiczne wypetnienie (7) Sruby do mocowania do plyty gtéwnej (M3) ® Sprezyna

® Sruby do uchwytu VESA A0 Nozki obudowy

JP

O#HIAVNIYR QHY—TILEY21—ILQCPUI—F— @D XTI B TyIv—
® Y—vIFrvTT 45— D IF—R—RKBERL (M3) ® /\x

© VESA AR Y © 7 — Rk

O BHE Q HEMESR Q) CPu BB @ B4 © 2R © BRERBHR © TiRIB4 M3) @ BE
© VESARZ 1244 (0 HEAERIEEAE

Panel Layout

®

USB 2.0 ports--* --- Power switch

Power / Hard LED

USB 3.2 ports .
Opening

Rear i
® Lo
O O
® 0®
Rear I/O; pening Kensi _,; lock hole

Internal Cable Connectors

nooooooooo OO0

USB 2.0 USB 3.2 Power&
connector connector LED for Power&HDD
Connector

GB

Connect the case internal cable connectors to the corresponding motherboard headers.

NOTE : If the connectors are not apparent on the board consult your motherboard manual. Connecting
the panel to the wrong headers may result in motherboard damage.

FR

Branchez les connecteurs de cable internes du boitier aux embases de carte mére correspondantes.
REMARQUE : Si les connecteurs ne sont pas apparents sur la carte, consultez le manuel de votre carte
mére. Si vous connectez le panneau aux mauvaises embases cela risque d’'endommager la carte mere.

DE

SchlieBen Sie die Gehiuseinternen Kabel-Anschliisse an die entsprechenden Motherboard-AnschliiBe.
HINWEIS: Wenn die Anschliisse auf dem Motherboard nicht ersichtlich sind, schauen Sie bitte in ihren
Motherboard-Handbuch nach. Ein Anschluss des Panels an die falschen AnschliiBe kann dazu fiihren,
dass das Motherboard beschadigt wird.

PT

Conecte os cabos internos do gabinete, nas entradas correspondentes da placa-mae.

NOTA : No caso das entradas nao estarem marcadas na placa-mae, consulte o manual da mesma.
Conectar os cabos numa entrada errada, pode danificar a placa-mae.

ES

Conecte los conectores de los cables del interior de la carcasa en los correspondientes cabezales de la
placa base.

NOTA: Si los conectores no aparecen en la placa, consulte el manual de la placa base La conexién del
panel en los cabezales equivocados podria dafiar la placa base.

RU

MopkniounTe pasbembl BHYTPEHHIX Kabenel Kopryca K COOTBETCTBYIOLMM pa3bemMaM MaTepUHCKOM
nnarl.

NPUMEYAHUE: Ecnn Bbl He BUAMTE 3TUX Pa3bemoB Ha nnaTe, 06paTutech K pyKOBOACTBY Mosib3oBaTens
CUCTEMHOI NnaTbl. I'quKmoqulne naHenn K HeBepPHbIM padbemMam MOXKEeT NPUBECTU K NOBpeXaeHnto
CWUCTEMHOI Nnatbl.

cz

Pfipojte konektory vnitfniho kabelu sk¥iné k odpovidajicim konektortim zakladni desky.

POZNAMKA: Pokud nejsou konektory na desce patrné, prostuduijte si p¥irucku k zakladni desce. Pfipojeni
panelu k nespravnym konektorim muze zpusobit poskozeni zakladni desky.

PL

Podtaczy¢ ztacza kabla wewnetrznego obudowy do odpowiednich ztaczy ptyty gtéwnej.

UWAGA: jesli ztacza nie s3 widoczne na plycie, nalezy zapoznac sie z instrukcja obstugi ptyty gtéwne;.
Podtaczenie tego panelu do niewtaiciwych ztaczy moze spowodowac uszkodzenie plyty gtéwnej.

P
SERICBRZYY ROY=Z2 7 AESBUT—ROEARI =TI EERLET,
FEEES VY —R—RNCERIT 2 EYTF—R—RICBEESZ2BNIHDET, BT, FE
AIBREIY—R— ROV =17 )L% SHERIIES W,

CN-S

TRYE BRI A LA L R TE AR X R i 7 o

AR MRAEER DR BREMNENHFIESEERZERRA -
IR LA RS BRI BEE M EARBUR ©

et A A AT AR E IR F | o
TR MREER LIS ERIEE BN T B2 EERZERRNA -
IR AR B AT REE B AR ©

Internal Layo

@ Front panel PCB ® M/B Mounting standoffs

2024/10



Installation

1

3

2 Note:
* Install the thermal module for motherboards featuring an
M.2 slot for SSDs positioned near the rear /O panel.

* The thermal module is not required if a USB 3.2 header is
located near the rear 1/0 panel.

* Ensure to check your motherboard layout before proceeding
with installation.

VESA Mounting Instructions

1

Qmm\i\gm\x\mu\&\mmmuuuuuuuu

Case Feet Installation




